
5

DCD

SJS

DCD

JDQ

D D

#3

bar

BILL OF MATERIAL

Grind  5/16 ’’ Chamfer

W6x25

Unit QuantityItem

FootSECTION C-C

ANCHOR DEVICE

VIEW D-D

‘ 1’’ x 6’’ x 19’’ 

9 1/2 ’’ 

2’’

~ Post

2’’ 3/4 ’’ 

1 
1/

2 
’’

 

 1/2 ’’ x 1 1/2 ’’ x 6’’ Bar
6’’ 

1 3/4 ’’ 1 3/4 ’’ 

 3
/4

 ’
’ 

 3
/4

 ’
’ 

‘ 1’’ x 6’’ x 19’’ 

1 1/8 ’’ } Hole

3
’
’
 

3
’
’
 

1’’ 

1’’ 2’’  1/2 ’’  1/4  

3
’
’
 

1’-7’’

 3/4 ’’ 2 3/4 " 2’’ 2’’

1
’’

2’’ 2’’ 2 3/4 "  3/4 ’’

~ Post

3
’’

30^

(6’-3’’ Maximum Post Spacing)  (5’’ minimum to 7 1/8 ’’ maximum CWS thickness)

4’’ 4’’

3’’ 3’’3 
1/

2 
’’

2 
1/

2 
’’

1 1/8 ’’ } Holes in

angles and plate

‘  1/2 ’’ x 6’’ x 10’’ 

*Threaded areas shall be plugged or blocked off during

 casting of beam. Galvanized after fabrication.

*1’’ H.S. Nut AASHTO M 164

 welded to ‘

Cast 1’’ voids behind

each nut

 3/4 ’’ } x 6’’ Granular or solid flux

filled headed studs conforming to

article 1006.32 of the Std. Specs.

automatically end welded.

(6 Required per ‘)

~ 1 1/8 ’’ }

Holes

STEEL RAILING, TYPE SM

WITH CONCRETE WEARING SURFACE

HSS 10 x 6 x  1/4 

x 3 1/2 ’’ long

Notes:

  All field drilled holes shall be coated with an approved zinc rich

paint before erection.

  For multi-span bridges, sufficient  1/4 ’’ x 6’’ x 1’-2’’ galvanized 

steel shims shall be provided to align rail between adjacent spans.  

  Steel rail elements shall be galvanized according to Article

509.05 of the Standard Specifications.

reinforcement bars and the outermost longitudinal reinforcement

bar shall be placed directly above the studs of the rail post anchor

device.

 3/16 

 3/16 

**The studs of the anchor devices shall be placed below the top

2 3/4 ’’ 2’’ 4’’

2" 2"

Remove and Re-erect

Existing Bridge Rail
299

Cost included with Remove and Re-erect Existing Bridge Rail.

  Existing railing assembly shall be removed and reinstalled.

* 3/4 ’’ } XXS Pipe or Hex Coupler Nuts

 conforming to AASHTO M291, Grade 

 A-3’’ long welded to #3 bar and 

 Tap pipe for  5/8 ’’ } Cap Screw.

1
’-

2
 1

/2
 "

 *
*
*

*** *** ***

4" *** 4" ***

*** *** *** ***

***Indicates dimensions are modified from

   "standard" to fit existing post assembly.

4- 13/16 ’’ Holes in angles

1- 13/16 ’’ x 10 1/2 ’’ Slotted

hole in post

{ 6 x 4 x  3/4  x

11’’ long

*** ***

5 1/2 " *** 5 1/2 " ***

16

DEPARTMENT OF TRANSPORTATION

STATE OF ILLINOIS

Johnson, Depp & Quisenberry

J
:\

J
D

Q
\1

1
0
1
4
9
 I

L
-
D

5
V

V
#
4
 I

L
 1

0
 M

a
d
d
e
n
 C

r
e
e
k
\1

-
M

a
d
d
e
n
C

r
e
e
k
\0

5
s
te

e
lr

a
il

.d
g
n

0
6
/1

3
/2

0
0
8
 1

9
:3

8
:3

7
$

(U
S

E
R

)
 

-
F

IL
E

:
D

A
T

E
:

U
S

E
R

:

SECTION COUNTY

ILLINOIS FED. AID PROJECTFED. ROAD DIST. NO.  

TOTAL

SHEETS

SHEET

NO.RTE.
SHEET

OF
(115BR-1)BR

F.A.P.

DRAWN:

CHECKED: CHECKED:

DESIGNED:

CONSULTING ENGINEERS

Springfield, Illinois

721 PIATT

CONTRACT NO. 70433

10

ILLINOIS 10 OVER

MADDEN CREEK

FAP ROUTE 721   SECTION (115BR-1)BR

PIATT COUNTY

STATION 1210+89.58

STRUCTURE NO. 074-0005

32

SECTION B-B

~ Slotted holes

W6x25

SECTION AT RAIL POST

1 3/4 ’’

3 1/2 ’’
1 

1/
2 

’’
4

’’
1

1
’’

3
’’

4’’ 4’’

 13/16 ’’ x 3’’ Slotted holes

3 1/2 ’’

C C

L 6 x 4 x  3/4 

2
’
-
8
’
’

1
’-

0
’’

6
’’

6
’’

8
’’

2
’’

4
’’

2
’’

3
’’

3
’’

4’’

Varies

1 
1/

2 
’’

Finished surface

Top of beam

 1
/2

 ’’
1 

3/
4 

’’
2 

1/
2 

"

2 1/2 ’’

B

B

CWS Varies

 1/8 ’’ x 7’’ x 6’’ Fabric bearing pad

 7/8 ’’ } Holes

in post

1 1/8 ’’ } Holes

in angles

HSS 6 x 4 x  1/4 

HSS 8 x 4 x  5/16 

**

 13/16 ’’ } holes

in angles

2- 5/8 ’’ } x 5 3/4 ’’ cap

screws with flat washer

4- 3/4 ’’ } x 6’’ Round Head Bolts

(With slot or approved recess in

head) with locknut & flat washer.

 7/8 ’’ } holes in hollow structural

section may be drilled in the field.

2- 1’’ } x 7 3/4 ’’ AASHTO

M-164 anchor bolts with

flat washer and lockwasher

HSS 6’’ x 3’’ x  1/4 ’’ x 3 1/2 ’’ long

HSS 10 x 6 x  1/4 

x 3 1/2 ’’ long

5
’’

‘  1/2 ’’ x 7’’ x 6’’

2 
1/

2 
"

2 
1/

2 
"

1 
3/

4 
’’

1
’-

1
"

 13/16 ’’ x 10 1/2 ’’ slotted

hole in post

1
0
 1

/2
 ’

’ 
(e

x
is

t.
)

9
 1

/2
 ’

’ 
(p

ro
p
.)

‘  1/2 ’’ x 6’’

x 10’’

1
’
-
7

’
’
| 
(
p

r
o

p
.)

1
’
-
6

’
’
| 
(
e
x

is
t.

)

4- 3/4 ’’ } x 3 1/4 ’’ H.S.

bolts with hex nut &

flat washers.

(Loosen these to 

slide the L 6 x 4 

assembly down about 

1" on the post)

2 1/2 "4"4"2 7/8 "

11
"

1
0

"

3 
13

/1
6 

"

3 
3/

8 
"

3 
13

/1
6 

"
3 

13
/1

6 
"

3 
13

/1
6 

"

2 
3/

8 
"

7"1’-1 3/8 "1’-0"

6
"

6
"

9
"

8 1/2 "1’-1 3/8 "1’-0"

4
"

1 
3/

4 
"

1 
3/

4 
"

1’-0" 1’-1 3/8 " 8 1/2 " 3"

END OF RAIL DETAILS

SECTION X-X

GUARDRAIL CONNECTION PLATE ASSEMBLY

END VIEW

2 
1/

2 
"

2 
1/

2 
"

9 
3/

4 
"

4
"

2
"

1
’-

8
 3

/4
 "

5"

2 
1/

2 
"

1 1/2 "

2"

 1/2 "

~ - 5/8 ’’ reduced base welded studs. Provide 4 -

 5/8 ’’ washers and self-locking nuts or nuts and

jam nuts for guardrail connection shown on

Std. 631032 

Drill 1" } hole in existing

rail for  7/8 " } bolt. (Typ. 4 locations)

6
"

6
"

8
"

1
"

Connection Angle

(Modified from Std. 631032)

X X

Drill 1" } hole in existing

rail for  7/8 " } bolt.

Drill  7/8 " } hole

for  5/8 " } stud.

{ 5 x 3 x  1/4  Connection Angle

(See Std. 631032)

(Typical at 3 corners of bridge)

 1/
2 "

Hatched portions of  3/8 " Plate and { 4 x 4 x  3/8 

shall be removed or omitted.  If removed after 

galvanizing, the exposed bare metal shall be coated 

with an approved zinc rich paint.




